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1. Which of the following is an example of a factory overhead cost?

a. Repair and maintenance cost on the administrative building

b. Factory heating and lighting cost

c. Insurance premiums on salespersons’ automobiles

d. President’s salary

e. All of the above are factory overhead costs

2. The Wry Company has sales of $100,000 with variable costs totaling $80,000, fixed costs of $40,000, and an operating loss of $20,000.  By how much would sales have to increase to achieve a breakeven point?

a. $20,000

b. $40,000
c. $100,000

d. $200,000

e. None of the above
3. Putman Manufacturing began operations on August 1, 2006.  During August, Putman had the following transactions: purchased $5,000 of raw materials; paid the President of the company $20,000; paid production workers $12,000; and paid rent of $3,000 for the factory.  The company produced 5,000 units and sold 3,500 units.  What is the amount of cost of goods sold for August?

a. $20,000

b. $14,000

c. $28,000

d. $6,000

e. None of the above

4. During its first year of operations, the Brittain Company paid $12,000 for direct materials and $13,000 in wages for production workers.  Lease payments and utilities on the production facilities amount to $5,000.  General, selling, and administrative expenses amounted to $6,000.  The company produced 6,000 units and sold 5,000 units at a price of $15.00 per unit.  The product cost per unit is which of the following amounts?

a. $5.00

b. $6.00

c. $7.50

d. $9.00

e. None of the above
5. To portray a more favorable financial position than actually exists, management can

a. misclassify a product cost as a general, selling, and administrative cost in a period when units sold exceed units produced.

b. misclassify a product cost as a general, selling, and administrative cost in a period when units sold are less then units produced.

c. misclassify general, selling, and administrative cost as a product cost in a period when units sold exceed units produced.

d. misclassify general, selling, and administrative cost as a product cost in a period when units sold are less then units produced.
e. None of the above

6. The following information relates to Pfeiffer Company’s 2005 accounting period:

(1.)
Production supervisor salary

$20,000

(2.)
Raw materials used


$12,000

(3.)
Rent paid on admin office

$  8,000

(4.)
Rent of production machinery
$  5,000

(5.)
Production Wages


$18,000

(6.)
Utilities – admin building

$  6,000

(7.)
Sales Revenue



$66,000

(8.)
Units produced


5,500

(9.)
Units sold



3,500

Based on this information, what is the amount of net income/(loss) for the company in 2005?

a. ($3,000)

b. $  8,000

c. $14,000

d. $16,000

e. None of the above
7. Birmingham Company provided the following information regarding its first year of operations:



Administrative salaries and other admin costs
$25,000



Depreciation on production equipment

$  5,000



Indirect materials




$  1,500



Marketing and distribution costs


$22,000



Plant supervisory salaries



$15,500



Production wages 




$33,000



Raw materials used




$20,000



Rent on production facilities



$  5,000



Sales salaries and other selling costs


$37,000


What is the amount of Birmingham’s factory overhead costs for its first year?

a. $27,000

b. $10,000

c. $94,000

d. $84,000

e. None of the above

8. Cost behavior refers to the manner in which:

a. A cost changes as the related activity changes

b. A cost is allocated to products

c. A cost is used in setting selling prices

d. A cost is estimated

e. None of the above

9. Smith and Associates had sales revenue of $120,000 during 2005.  The company incurred $40,000 of fixed cost.  Sales price per unit was $12 and variable cost per unit was $3.  What is the company’s operating leverage for 2005?

a. 1.0

b. 1.4

c. 1.8

d. 2.0

e. None of the above

10. During 2005, Bud’s Backyard Equipment had its highest sales month during June when 90 bar-b-que pits were produced at total cost of $12,000.  The low point was in January when 20 pits were produced at a total cost of $3,600.  Using the high/low method, what is the estimated amount of fixed costs per month?
a. $10,800

b. $1,200

c. $120

d. $0

e. None of the above

11. When volume increases:

a. Fixed cost per unit increases

b. Variable cost per unit increases

c. Total variable costs increase

d. Total fixed cost remain constant

e. More than one answer is correct

12. Ziegler Incorporated sells t-shirts.  The t-shirts have a sales price of $15 each.  The t-shirts have the following costs:  variable manufacturing cost per shirt - $5; variable selling and admin cost per shirt - $3; fixed manufacturing costs - $90,000; fixed selling and admin costs - $20,000.  During 2005, Ziegler sold 15,000 t-shirts, what is the contribution margin for 2005?

a. $180,000
b. $150,000
c. $60,000

d. $40,000

e. None of the above

13. Pomeranz Company had sales of $100,000, variable costs of $20,000, and fixed costs of $40,000 during 2005.  The company’s accountant expects net income to increase 40% during 2006.  Assuming fixed costs and variable costs per unit stay the same, by what percentage will sales increase in 2006?

a. 80%

b. 60%

c. 40%

d. 10%

e. There is not enough information to determine

14. If sales are $800,000, variable costs are 64% of sales, and fixed costs are $272,000, what is the contribution margin ratio?
a. 53.1%

b. 36%

c. 64%

d. 30%

e. None of the above

15. If fixed costs are $850,000 and variable costs are 75% of sales, what is the break-even point (dollars)?

a. $1,133,333

b. $1,983,333

c. $3,400,000

d. $2,550,000

e. None of the above

16. If fixed costs are $450,000, the unit selling price is $75, and the unit variable costs are $50, what happens to the break-even point in sales (units) if the sales price is increased by $10 per unit, the variable cost is increased by $5 per unit, and the fixed costs are decreased by $25,000?

a. The breakeven point increase
b. The breakeven point decreases

c. The breakeven point remains the same

d. The breakeven point will double

e. There is not enough information to determine

17. Chandler Company would like to have a profit of $80,000 for 2006.  Fixed costs for 2006 will be $50,000.  The sales price per unit is $125.  The company has a contribution margin ratio of 40%.  How many units does Chandler Company need to sell in 2006 to earn the desired profit?

a. 125,000 

b. 1,000

c. 325,000

d.  2,600

e. None of the above

18. The Neter Company has determined that it needs to sell 5,000 units during 2007 in order to earn its desired profit.  The company has fixed costs of $35,000, a sales price of $18 per unit, and variable costs of $6 per unit.  Based on the given information, what is the company’s target profit for 2007?
a. $90,000

b. $60,000

c. $35,000

d. $25,000

e. None of the above

19. Mathews Company has budgeted sales of $80,000 for 2007.  The company must have sales of $40,000 in order to breakeven.  What is the margin of safety in number of units if the sales price is $25?

a. 0

b. 1,200

c. 2,000

d. 3,200

e. None of the above

20. All of the following statements describe qualities of relevance except:

a. Relevant information is future oriented

b. Relevant information differs between the alternatives

c. Relevant information requires a high degree of precision

d. Relevant information includes qualitative as well as quantitative data

e. All of the above describe relevance

21. Amy purchased a concert ticket for $80.  The concert sold out.  Before the concert, two people tried to purchase her ticket.  The first person offered $120 and the second person offered $150.  What is Amy’s opportunity cost of going into the concert?
a. $80

b. $120

c. $180

d. $300

e. None of the above

22. Great Products Company currently outsources an electrical switch that is a component in one of its products.  The switches cost $30 each.  The company is considering making the switches internally.  The projected cost per unit for materials, labor and variable overhead is $15.  There will be a batch-level set-up cost of $20,000.  (Each batch is 4,000 units.)  The company will have to hire a supervisor to oversee the production of the switches.  The product-level salary is $40,000.  The facility-level costs that will be allocated to the switches are $25,000.  The company expects an annual need 8,000 switches.  What will happen to total costs if the company decides to make the switches?
a. $40,000 less than if the switches are purchased.

b. $60,000 less than if the switches are purchased.

c. $60,000 more than if the switches are purchased.

d. $15,000 more than if the switches are purchased.

e. None of the above

23. ServicePro provides two kinds of services.  During the most recent accounting period, the two service lines produced the following operating results:
Service 1

Service 2


Service revenue



$80,000

$20,000

Unit-level materials



( 20,000)

(   2,000)

Unit-level labor



( 30,000)

( 14,000)


Product-level selling & admin costs

( 10,000)

(   2,500)


Company wide facility level costs

(   5,000)

(   5,000)

Net Income




$ 15,000

($ 3,500)
If the company stops providing Service 2,

a. The company’s income will increase by $1,500 per year.

b. The company’s income will decrease by $1,500 per year.

c. The company’s income will increase by $3,500 per year.

d. The company’s income will decrease by $3,500 per year. 

e. None of the above
24. Harris Company began business on October 1, 2005.  The company incurred the following maintenance costs for the last quarter of the year:  October - $30,000 when the company used 60,000 machine hours; November - $31,500 when 71,000 machine hours were used; December - $34,000 and the machine hours were 80,000.  What is Harris Company’s estimated variable maintenance cost per machine hour?

a. $0.20.

b. $0.425.

c. $0.50.

d. $5.00.

e. None of the above.

25. Trinkle Company sells two kinds of mainframe computer power supplies.  The company projected the following cost information for the two products:

Standard Supply

Heavy-Duty Supply


Sales price per unit
   $250



     $120


Variable cost per unit     $110



     $  50


Units made & sold
   7,000


    3,000

Total fixed costs are $214,200.  Based on this information, what is the combined number of units of the two products that would be required to break even?

a. 1800

b. 1020

c. 1500

d. 1900

e. None of the above

